Third secondary
Statistics Model 1

1. If the two variables increase together or decrease together, then the correlation
between them is ......

a) Directly b) Inversely

c) Non-linear d) nihilistic

2. Given 7 values whose arithmetic mean is 8, then the sum of values is......

a) 40 b) 56 c) 60 d) 80

Stem| Leaves
3. In the given stem and leaves diagrams 23 45
The greatest number is ...... 24 14709
a) 2.71 25 10448
b) 23.5 26 |389
c)27.5 27 125
d) 275

Key:24 |7 =247

4.If X is a normal random variable with mean ¢ = 6 and standard deviation o = 3, then its
standard normal distributionis equal + 0 = .......
3—x

6— -3 -6
a) 5 b) =~ )5 d) ==

5. P(A n B) is equivalent to all of the following except...
a)P(BIA)xP(A)
b) P(A | B) X P(B)
c)P(A)+P(B)—P(AUB)
d) P(AUB)
P(B)

6. The two events A and B are independent if and only if ......
a)P(AUuB) =P(A) + P(B)
b) P(AUB) = P(A) X P(B)
c)P(ANnB)=P(A) +P(B)
d) P(ANnB) = P(A) X P(B)
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7. The data given in the stem and leaves diagram are ... Stem | Leaves

a) 162,1745,1867 16 |2
b) 162,174,175,186,187 17 |45
c)16.2,17.4,17.5,18.6,18.7 18 |67

d) 1.62,1.74,1.75,1.86,1.87
Key: 17]4 = 17.4

8. If the score of a student in an exam which follow a normal distribution with mean 75,
and standard deviation 5. if a student’s score is 80 then his standard normal score is...
a) -1 b) 1 ¢) 1.07 d) -1.07

9. A sample of 225 values with confidence 95% and the estimation error was 0.784, then
the standard deviation of the sample = -
a) 25 b) 5 c)6 d) 36

10. If the Confidence interval for a sample mean is | 9.3,10.7][, then the arithmetic mean of
the sample = .-+
a)8 b) 9 c) 10 d) 11

11. If the two points (2,8), (7,3) lie on the regression line y on x and the correlation was
perfect, then the correlation Coefficient is

a) -1 b) Zero OF d) 1

12. From the given data
X|6[5]|7]8]10
Y[4[7]|5]6]|8

if the error at x = 8 is 0.3, then the value of x which satisfy the regression equation = -
a)6 b) 6.6 c) 6.3 d) 10

13. All the following represent the discrete random variable except ...
a) Number of stocks allocated to a person in a shareholder company
b) Number of weekly calls for a person

c) Number of accidents in a certain highway in a month.

d) The height of a candidate of a basketball team.
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14. The third quartile of the values 1,4,3,7,8,5,9,2 is ...
a) 3.75 b) 3 c) 7.75 d) 5.5

15. If the range of the random variable in an experiment of flipping a coin twice is {0,1}
then the experimet refers to ......

a) Number of heads.

b) Number of tails.

c) Num of heads - Number of tails.

d) Number of heads x Number of tails.

16. The mutually exclusive events A and B are independent if and only if ......
a) P(A) X P(B) = zero

b) P(A) x P(B) =1

c) P(A) x P(B) = P(AUB)

d) P(A) + P(B) =P(ANB)

17. In the experiment of flipping a coin 4 successive times, then the probability that
exactly three heads appears = ......
1

1 1 1

18. If D is the difference between ranks of two variables and £D? = zero, then the

correlation coefficients r between the two variables = ---
a)-1 b) zero c) 0.5 d)1

19. If the order of the first quartile is 5.75 then the number of values is...
a) 23 b) 22 c) 24 d) 21

20.1fP(ANB) ==,P(A) =5 then P(B | A) = .....
1 8 1 2
a) 5 b) - ) d) <

21.IfP(A | B) = ,P(B) =~ then P(ANB) = ...

4 1 25 16

22.1f A and B are two independent events, and P(4) = 0.2, P(B) = 0.6,then P(AUB) =

a) 0.12 b) 0.32 ¢) 0.68 d) 0.8
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23. If the number of certain set of values is n, then which of the following could be the
value of n given that all three quartiles are subsets of the values?
a)5 b) 12 c) 21 d) 35

24.1f X is a discrete random variable with expectations ¢ = 3.5 and its probability
distribution is given by

x; 0|l 1] 2 1|b]| 6
f(x) | 01]01]03|alo03

thena + b = -

a)0.2 b) 5.2 c)5 d) 4.8

25. In the given box plot ‘L il —_—

The semi quartile range = --- ' g

a) 15 — i + — + - . ¢ +

b) 7.5 24 26 28 30 32 34 36 38 40
)9

d) 4.5

26. If the mean population in a sample of 36 values satisfies the inequality

5 5
36— x 196 >p >36+ 2 x 1.96

with a confidence interval 95% then the standard deviation of the sample is...
a) 1.96 b) 5 c)6 d) 36

27.The scatter plot which represent an inverse Correlation is...

Y Y Y Y
..:..l: . .... .... ...O. ....
..l .' .. o..o. .....
X X X - X
a) b c d

28. The number of students in a math test is 100. If the scores follow a normal distribution
of mean = 70, and standard deviation = 5, then the number of students who got scores

more than 78 is ......
a)5 b) 6 c) 15 d) 55
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29.1f A and B are two independent events p(4A) = 0.25, p(B) = 0.4,thenp(4 - B) = --
a) 0.1 b) 0.15 ) 0.3 d) 0.65

30. for the two variables X and Y, if Yx, - f(x,) = 4 and Yx? - f(x,) = 25 then the
coefficient of variation = ......
a) 16% b) 75% ¢) 64% d) 15.6%

31. If the probability distribution for the random variable x is given by the function
kx 2>x>4
F(x) =
(%) { zero  otherwise
thenk = -
3

a)% b)§ c)% d)>

32. If the probability distribution of the random variable X is {(0,0.25), (1,0.5), (2,0.25)
then the expectation = ......
a) 0.5 b) 1 c) 1.25 d) 1.5

33.If X is a normal variable with mean p and standard deviation g, then

P(x > pu—150) = ......
a) 0.0668 b) 0.4332
c) 0.8664 d) 0.9332

34. In the given table
x |77 8|37 ]11

y |8 (4|12 (2|10 |11

Calculate Spearman's rank correlation coefficient between X and Y

35. The frequency table shows the weights of a number of births in a certain hospital in a
14 days period

Weight in kg 21251 3 |35|4| 45| Sum
Number of Births | 3 7 10 8 4 2 34

Find the semi quartile range.
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